


Tot al vote = @ Ql. There are two condidates in an election A can- didate got
68% of total votes and won by 14400 votes then find the total

[ o
votes?

\
m&i‘q TS Jaild A 4l Iseflgan g, Teh Jvfieare 68% dlc UId &ed 14400
e & Hid Arar 8, at $o fden AAaere g3 ?

(oe
A) 40,000

‘ UQ " (c) 36,000 B
(B) 32,000

(D) 42,000
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Q2. There are two candidates in an election. A can- didate

secured 40% of total votes and defeated by the other candidate

by 298 votes. Find total votes?
TS Yoild A 31 Ilean 2, v 3sfleane 40% dle urd e 2908 dlc &

g ATA1 8, it o3 fdseon araerst g3 2

(A) 1390 Totod vate =] 100 \uq
uﬁ L _a%_jl&;x\o%)
(B) n90 o/ Yo . e

(D) 1690 \Q

R0
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Q3. In an election there are three candidates. The winning

T IL ITL, candidate got 55% votes and the can- didate at the third place
got 5% of the votes. If the winning candidate win by 9000 votes
557. Yo / 51 then find total number of votes while no vote was invalid.
\/ TS JaiTd A diel 3eefiqare] ¢l faar 3sefiaar &) 55% Adaers A 3T
diere 33efieare &t 5% FAders yra g3m afe favar 3eflear 9000
9806 Aderel A oftadl 2, A AdeTel 6 P Hem A1d Hifoe af2 B oft 71a
T e K100 3fael sTEl &l
) @ o050
- (c) 62500 (D) 69500




Q4. There are two candidates in an election. 8% of the total
votes did not cast their votes. A candi- date got 48% of total
votes and won by 1100 votes then find the total votes?

U goTd A &) IF9fiean 2, 8% Ad 31 iEl A1 2, v It 48%
1d YT Hedb 1100 Hal A ofta wrdT 21 at $es Fal Bt &1 S1a A
&el

(A) 22599
(B) 26500

(D) 28500




Q5. There are two candidates in an election 10% of the total

[ | 00 voters did not cast their votes. A candidate got 60% of polled

~lof: —?Qi votes and won by 720 votes then find the total votes?
Polled (9011 3 i‘__Q'X'OO ve gora 3 3t 3fteare 2, 10% a 31 ot oa &, v aefieare o
[02 IR Al BT 60% A YT Hedb 720 HAal A Hid AraT 2, at Fo A4l i

vJ‘////}\\\\\l: ST SA1d Hell ;
oo guite e
190 \00 (B) 4200 W \6271\\ 007\4'\
(c) 3000 ¢o Yol T

(D) 3500




100 |

Q6. 10% of the voters did not cast their votes in an election
between two candidates. The successful candidate got 60% of
the used votes and won by 360 votes. Find the number of votes
polled.
L TS goird & ol IR 1 38qH F Aderasid A & 10% 3 3gen
HAderal Tdl fabar 3ie HHiaa are Ieefiqare 21 A ardl &1 60% a1d
éﬁsz3€§§Eﬁﬁivﬁa=nm1ﬂqﬁannaaﬁnaﬁ?

. (A) 3000 1o 9
o -
(c) 4500
(D) 2500

.
-. | _ -




Q7. There are two candidates in an election 10% of the voters did

not cast their votes and 60 voters cast their voted to NOTA. The

208 winners was sup- ported by 47% of the all votes in the list and he

— (o got 308 votes more than his rival. Find total yotes?
/\ Y& © v gara A 4l Isflean 2, 10% Ad 31 g ra € JuT 60 FAdeTar e

Uy Uz~ FASerdl 23 ¥ aen ve et sefiaar oo wal @ 47+ a wra
N Peds 308 3dll & vftd HATaT 8, it s el &t HE Sid Fel
2 w380
&‘1'&),\ 100 (c) 6600 (D) 6400




| BN 2 MathsByPradeepsic BN |

Q8. 10% of the voters did not cast their votes in an election between two

candidates. 55 of the votes polled but found invalid. The successful
373 candidate got 48% of the voters list and won by a majority of 373 votes.

rys The number of voters enrolled on the voter's list was.

2,18  T®Yeld A al Ilear & & gora A Aderdan It & e 10% Aal BT wAhT

T aftfdar I aur 55 w6l B sde it fan I awe Ieeftaar 373 A A
oftd I e $&e AT et & P Al b 48% 1d I fabe, dt Aaerar =t
3 a7el) &t 2w fbsaeft £ 2 Jake pipe ID Notel bhik at St

(%) 5400

(c) 5000 (D) 5200




L - EEREEEN———
QI10. In an election 22% voters couldn’t cast their votes. Out of
total casted votes 15500 became invalid. Winner secured 51% of
st ) (3 500 total votes in voting list and won the election by 63500 votes
t | & -]] | S Soo find the total number of votes secured by the winner?
48000 uep gama & 22% ATl U AT L TS TIP3 IS ML AN A A
15500 3fael die Hifta A el fAAar & $ Aaerar At & 51% o
5 oz_)L‘l. T fbe 3z 63500 3rdl & Yaira ofta Iram fAsar grer urd aiel i

P ST STd HifAe ?

(c) 210000 (D) 225000
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QIl. In an election between two candidates Ravi and Amit. 13.33%
voters didn't participate in voting. 16.66% votes were declared
invalid, and the winner got 56.25% of the total valid votes and won

by 5460 votes. Find the total number of voters in the voting list?

@l 3ftearel A i sfdta & dta ves gorra g3m 13.33% Aderarsi
FAderel A o1 T f3A1116.66% d1e 3rae wifdd fa3 Ire 3z fddtar & o

a8 HAGl BT 56.25% fAST 60 del & ofta | Aagrar It A
FAderansil it o dEmfhastapfie S [
(a) 72576 3 ¢ 2

(c) 60000 (D) 52800 ¢ 'S




L \OOJ QI2. In an election 20% of population do not caste the vote and 120

\Z- 2ol F00 votes are invalid winning candidate gets 200 votes more than his

lﬁ = [0 competitor and get 41% votes of total vote. Then how much
0 _

T 80 percentage of casted votes looser candidate got?
W/\L faseft getra & 20% SN A ale sigl f&ar a2 120 @i 3w gifta 53 91

Ud- 39/ Bo Mo fasiar &1 3ruet ufdggt & 200 dle sifee fA a2 I8 Fo dei 1 41% de
N = T &2, dt et ars Ieefieare A 31 IR Fal @1 fabaen wfdera yra
Po lled-{ > 3Q00] fare

oo . o

29 3 L=ISCO
—&TY\ 230 (C) 65.5 NEE




00

Tbﬁ QI13. In an election two candidate have participated. 10% of total
W, . voters did not cast their votes of the polled votes, 10% are declared
7 L as invalid. If the winner got 70% of valid votes, and won by 7290

o/ 3oy votes, then find, how many voters are there in the voting list?
. S vs oTTd A 21 33figTe A1 10% HTATH 3 Faaret ordt fabsani & & 10%
9™~ a1d 3rael wifed f5A I 3|\ oftaat arest eefige der aral & 70% pha

JRar¢ y\+3§x o 1o m%sﬁznsom’maﬁa gl ad AqeTa gt A pos dEAT ¢ ?

_,1,17 & %-— (A) 22700 (B) 28500

Io o
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Ql4. In an election two candidate have participated. 20% votes
were declared invalid and the win- ner gets 70% of valid votes,

and won by 9600 votes, then find total number of votes?

U Yoitd A < IIgTe &A1 20% a1d 3de wfdd A I 30 oftaat arest
Jigre ael Al & 70% A W Hedl & 32 9600 FHdl & Hfid wATar 2
dd AdeIal gl A P AT E ?

L
S

(B) 24000
(c) 48000
(D) 56000
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Q15. In an election between two candidates. 10% of the voters did not

W C cast their votes while 10% of the vote polled were declared invalid. If

5 L] ( (1 ¢ / the winning candidate of got 54% of the valid votes and won by 1620
‘\__/ votes, then find the total number of voters in the voter list.

TS JolTd & &l Jefiaare 8110% AdQIdIsil o 3Teil d orél faar rafds 2y &1

¥, 3"&\% e 10% de 3¢ Bif¥d e 22 I 3P fotaa ares Jeofteare &t Ael vl &1 54%

Aot 1o, (0 ? 312 1620 dle & i Iram at FAderar I A F& Aderarsi’ 6 iz

’8'___LT_— 3 ) Gr K l

(c) 22500 (D) 25500

_"v '“_ -
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Q16. In an election 10% voters did not vote, and 12.5% 3 votes

declare invalid, and the winner got 713% of valid votes. If he win by
5400 votes, then find the voting list.

faseft gotra A 10% 3Ffteare dte o7El 3rd € dam 12.5% dle 3 3de wifda
fad 91 Sftaat N1 weneft ot srat &1 712% WTa et 21 afe a8 5400
YA ot 2, o =E
(A) 15000 (B)135

|

—

34} &t T STd e ?
/
) 8
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Q17. In an election there were two candidates first one got 55% votes of

~i1500 N} - 0 [ valid votes and 20% votes were declared invalid. If the total votes are
[ Loo ;LE 7500 than how many valid votes got by second can- didates?
” TS Yoird A a1 3F9IEare) A A veb A $o a8 Adl & 55% Ad U BT q2u1 20%
W L aid 3der wNfda He ) afl e Al &t & 7500 @ dt g IFfleare A $o
fdaat aerara urea fae 2
Coonx55 Copes ,
| 00 l/59' (B) 3000 3
(c) 2900
(D) 3100




m i i .

Q18. In election between two candidates, 75% voted for it and in this
2% of votes are declared in- valid. A candidates secured 9261 of votes
which are 75% of valid votes then find total number of voters in voters
Ixj—gxﬁﬁﬂls: ~q list ?

loo  |oo /00 RS el yrcanferat & dffa ge ve geira A 75% Aderarsit ot 3uet ad 33| foierat &
2% A4 el gifda &e AT vl v yaareft & 9261 A1a wra a1 it der aral
& 75% A1 38 YoI1d A Usdlpd AdaTa1sil &bt o daan 2fi-
(A) 15900 (B) 14200

(o)13800
HEY] B I




Z)ool

u/\L

—H%oo X0
Koo
—8s

B Maths By Pradeep Sir N

Q19. In an election 15% voters did not vote, and 3900 votes

declare invalid, and the winner got 57% of valid votes and wins

by 1120 votes then find the number of voters in voting list?

> Rooo faseft gotra A 15% 3flear die 57 ara € dam 3900 s1e 3 gifda
1+ 2900 fsd 31 wfteat arest yeaeft 3¢ A&l &1 57% UTed SHea 81 af2 7€ 120
alel & oftaan 2, doftepa AAaeTansi &t dem Ara &e 2
kLl

(B) 15000

(c)16000

(D) 12000




Q20. In a village 70% registered voters cast their votes in the election.
Only two candidates (A and B) contrasted the election. A won the

election by 400 votes had A received 12.5% less votes had A received

8 12.5% less votes the result would have been tie how many registered
4 =1y voters are there in village.
~— T JNid & 70% Uddlepd Aderarsit ot aAd &1 w1 fasan afe gara o < &

Tz Iy Jaefieare €11 A 400 Al & oird &1 Hid wATaT & afe A B 12.5% & ale fAS &,
at afdvTrat serae 8 S & STd Hifoe i 3 e faaet o HAdeTang ?
boo 7 A) 2800 (B) 3000

R+ <L
S (0) 2500 R




